

برهان ضا

روش استفاده

1 1 v

$$(1! + 3! + 5! + \dots + 201!)(2! + 4! + 6! + \dots + 202!) \quad (1)$$

$$\left. \begin{array}{l} 1! = 1 \\ 3! = 6 \\ 5! = 120 \end{array} \right\} v \quad \left. \begin{array}{l} 2! \rightarrow 2 \\ 4! \rightarrow 24 \\ 6! \rightarrow 720 \end{array} \right\} y \quad v \times y = 2 \quad (2) \quad \text{کدام}$$

$$\text{الف)} \sqrt{(x+\sqrt{y})^{-1}} \sqrt{1+\sqrt{y}} \Rightarrow \sqrt{(x+\sqrt{y})^{-1}(1+\sqrt{y})^2} \Rightarrow \sqrt{\frac{1+\sqrt{y}+2\sqrt{y}}{x+\sqrt{y}}} \quad (2)$$

$$\sqrt{\frac{1+\sqrt{y}}{x+\sqrt{y}}} = \sqrt{\frac{2(x+\sqrt{y})}{x+\sqrt{y}}} = \sqrt{2}$$

$$\text{ب)} \left(\frac{\sqrt{2}+\sqrt{5}}{10+2} \right) \left(\frac{\sqrt{3}-\sqrt{5}}{10+2} - \sqrt{2}+\sqrt{5} \right) \Rightarrow A \Rightarrow \frac{\sqrt{2}+\sqrt{5}}{\sqrt{2}(\sqrt{2}+\sqrt{5})} - \frac{1}{\sqrt{2}}$$

$$(x-y)^2 \Rightarrow 2\sqrt{2}+2+\sqrt{5}-2(\sqrt{2}+\sqrt{5})\sqrt{2} \quad 9-5=4$$

$$x-y=2 \Rightarrow x-y-\sqrt{2} \Rightarrow AB \Rightarrow \frac{1}{\sqrt{2}}x - \sqrt{2} = -1$$

$$\text{الف)} \frac{\sqrt{2}+\sqrt{2}}{5-\sqrt{2}} - 2(\sqrt{9}-1)^{-1} \Rightarrow \frac{2\sqrt{2}+2\sqrt{2}+0+\sqrt{2}}{5-\sqrt{2}} \times \frac{0+\sqrt{2}}{5-\sqrt{2}} \Rightarrow \quad (3)$$

$$\frac{19\sqrt{2}}{1-\sqrt{2}+9\sqrt{2}+10\sqrt{2}+4\sqrt{2}} = \frac{\sqrt{2}+\sqrt{2}}{14} \quad \left\{ \begin{array}{l} \sqrt{2}+\sqrt{2}-\sqrt{2}-1 = \sqrt{2}-1 \\ \sqrt{2}+\sqrt{2}-\sqrt{2}-1 = \sqrt{2}-1 \end{array} \right.$$

$$\frac{-2}{\sqrt{2}-1 \times \sqrt{2}+1} = \frac{x(\sqrt{2}+1)}{x}$$

$$\text{ب)} \frac{2\sqrt{2}-1}{2+\sqrt{2}} + \frac{(2-\sqrt{2})^{-1}}{B} \Rightarrow$$

$$A = \frac{2\sqrt{2}-1}{2+\sqrt{2}} \times \frac{2-\sqrt{2}}{2-\sqrt{2}} \Rightarrow \frac{2\sqrt{2}-1}{12} \Rightarrow \frac{12\sqrt{2}-12-9+\sqrt{2}}{12} \Rightarrow \frac{13\sqrt{2}-21}{12} = \sqrt{2}-1$$

$$B = \frac{1}{2-\sqrt{2}} \times \frac{2+\sqrt{2}}{2+\sqrt{2}} \Rightarrow \frac{2+\sqrt{2}}{4-2} = 2+\sqrt{2} \quad \sqrt{2}-1+2+\sqrt{2} \Rightarrow 1+\sqrt{2}+1 = \sqrt{2}+2$$

$$a = \sqrt[1]{v \cdot f \sqrt{p}} \rightarrow a = \sqrt[1]{(v \cdot \sqrt{p}) \cdot f} = \sqrt[1]{(v \cdot \sqrt{p})} \quad (6)$$

$$\underbrace{\left(a + \frac{1}{a} + \sqrt{p}\right)}_A \underbrace{\left(a + \frac{1}{a} - \sqrt{p}\right)}_B = \left(a^p + \frac{1}{a^p}\right) + \cancel{p} - \cancel{p} \rightarrow a^p + \frac{1}{a^p} + p$$

$$(v \cdot \sqrt{p})^p = \frac{1}{(v \cdot \sqrt{p})^p} + p = p + \rightarrow \frac{1}{v \cdot \sqrt{p}} \times \frac{v + f \sqrt{p}}{v + f \sqrt{p}} \Rightarrow$$

$$\frac{v + f \sqrt{p}}{f \sqrt{p} \cdot p} = v + f \sqrt{p} \rightarrow v - f \sqrt{p} + v + f \sqrt{p} + p = p^2$$

$$14 - p^2 \rightarrow \boxed{p = 14}$$

$$A = \sqrt[1]{f \sqrt[1]{14}} \left(\frac{1}{p}\right)^{-\frac{p}{p}} \Rightarrow$$

$$\frac{f \times \frac{1}{p} \times \frac{1}{p}}{p \times \frac{1}{p} \times \frac{1}{p}} = \frac{f}{p} \Rightarrow p = \frac{f}{\frac{f}{p}} = \frac{f \times p}{f} = p = 14$$

$$(pA)^{-\frac{1}{p}} \rightarrow (p \times f)^{-\frac{1}{p}} \rightarrow \frac{1}{\lambda^{\frac{1}{p}}} \rightarrow \frac{1}{\lambda^{\frac{1}{p}}} = \sqrt[1]{\frac{1}{\lambda}} = \boxed{\frac{1}{\sqrt[1]{\lambda}}}$$

$$a^{\frac{1}{v}} = p \times a^{\frac{10}{v}} \rightarrow a^{\frac{-1f}{v}} = a^{-p} = p^p$$

$$\left(\frac{1}{a}\right)^p = p^p$$

$$\frac{1}{a} = \sqrt[p]{p^p}$$

$$\rightarrow \frac{1}{a} = p = p \sqrt[p]{p} = p$$

$$\frac{p \sqrt[p]{p} - p}{1 + \sqrt[p]{p}} \times \frac{1 - \sqrt[p]{p}}{1 - \sqrt[p]{p}} \Rightarrow \frac{p \sqrt[p]{p} - p - p + p \sqrt[p]{p}}{1 - p} \Rightarrow \frac{2p \sqrt[p]{p} - 2p}{-p} = \boxed{-2(\sqrt[p]{p} - 1)}$$

$$\sqrt{\frac{d+a}{t}} - \sqrt{\frac{d-f}{w}} = r \rightarrow \sqrt{d+a} - \sqrt{\frac{d-f}{w}} = r$$

$$\sqrt{d+a} + \sqrt{\frac{d-f}{w}} = r \rightarrow (t+w)(t-w) \Rightarrow t^2 - w^2 \Rightarrow$$

$$t + w = r \rightarrow$$

• dot note

$$\frac{a+f}{t} \Rightarrow t + w = r \Rightarrow \frac{a+f-f}{t} = \frac{a}{t}$$

$$\boxed{\frac{a}{t}}$$